A & R @ =

£ A H 30 £ 5 H 31 B HHIIELSS

A # & PR FALETRIGARTAR F2RERE

I 5 & 5 $#-16

I %= 4 BT I8 KFE R 1 IRIR BT TS

I % B Fr #CALET = A

FE i & (Brid) 6,249,960 F  As#Ermids@x 5 787,000 M

B & HI R ffi 4% (B 3A) 5,583,600 M  Asmtesdmss (Bi4k) 5 170,000 M

FEEHE(HBA) 5,886,000 H #HF& =% (Hiik) 9,450,000 M
*EA A W & ®HE &

AR 5, 450, 000 [ #LiRE

AT 1148 5,500, 000

0 Br4E 5, 580, 000

(R)E 4 5,700, 000

HERHEH 5,700, 000

EEEAFLERICI007 DSICHHL T HEEZME L - EEA IR EHRA L
DEHAA IR DMEETH D,




